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Q1) Find the equation of the line if it has an x-intercept at (2,0) and y-intercept at (0,-4)

Rise=-4-0=-4
Run=0-2=-2
rise _ —4 _

m= Gradient=— = =
run -2

2
Equation of line: y = mx + ¢
y=2x+c

Whenx =0,y = —4
—-4=2%x0+c

c=—4

Equation of line: y = 2x — 4

Q2) Find the x and y intercept of the following equations

a) y=3x+1
. y-intercept occurs when x=0
x-intercept occurs when y=0 _
y=3x0+1
0=3x+1 y=1
-1 =3x
1 .
—3= X y-intercept: (0,1)
x-intercept: (—;, 0)
b) y=—-2x-3
x-intercept occurs when y=0 y-intercept occurs when x=0
0=-2x-3 y=—-2%Xx0-3
3=-2x y=-
3
— =X .
-2 y-intercept: (0, —3)
x-intercept: (—%, 0)
c) 2x—y—6=0
x-int occurs when y=0 .
2%—0—6=0 y-int occurs when x=0
2% —6=0 2xXx0—-y—-6=0
2x =6 —y-6=0
6 —y=6
x-int: (3,0) y-int: (0,-6)
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